Contemporary Urban Environments Booklet 3

Name:
Counter-urbanisation 
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Changes in rural places (Links with Changing Places)
How have rural place changed over time?
· Most people in the UK, and the world, now live in urban areas. 
· This growth mainly occurred during the Industrial revolution where large numbers of people moved away from farming and primary industries and took up better paid jobs in growing towns and cities. 
· However, industrial decline since the 1960s and 70s, coupled with improved transport links has meant a resurgence of people moving back to more rural locations. 
· Rural areas in the UK are changing to meet the needs of the people living there. 


KEY TERMS:
Counter-urbanisation: population movement from large urban areas to smaller urban settlements and rural area
Suburbanised village: a small settlement in which most the workers commute to work in urban areas and are said to have “urban values”, so they are not primarily interested in the rural economy e.g. Cranleigh, Milford, Bramley.



Counter-urbanisation – causes and consequences
TASK: Use your pre-work to list reasons why more people are choosing to move out to rural areas.







TASK: Describe the socio-economic groupings of the people most likely to counter-urbanise.
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TASK: Using the map above describe the type of rural settlement that would attract people who want to leave urban environments.




Hudson’s model of a suburbanised village
TASK:  Annotate each zone to explain what has happened and why:
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Characteristics of a suburbanised village
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The effects of counter-urbanisation
TASK:  Look at the effects in the table below and complete the following:
· Decide if it’s + or – (They may be positive and negative – REMEMBER – this brings through your critical understanding if you can explain why);
· Decide if it’s S (social), EC (economic), ENV (environmental) or P (political).
· Links with Changing Places - pick out the aspects you think will particularly alter the ‘sense of place’ and annotate them:
· How will place identity be changed? 



Will sense of place become lost? Placelessness?
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Evidence of counter-urbanisation – Cranleigh, Surrey.
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TASK:  Watch the video clip and make notes on the following:
https://www.bbc.co.uk/news/av/uk-england-surrey-28762142/plans-to-expand-cranleigh-england-s-biggest-village

· The location and population of Cranleigh.


· Plans to build more homes.


· What impact the development might have on the area?


· Differing perceptions/opinions about the proposed development.


TASK:  Using your notes from the video clip and the map above suggest reasons why Cranleigh has become a suburbanised village.
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TASK:  Complete the table with evidence from Cranleigh that supports the ‘Characteristics of a suburbanised village’.  Use data from the previous pages and your own research e.g. Cranleigh Parish Council website https://www.cranleigh-pc.gov.uk/Home_14091.aspx , Surrey County Council bus timetables https://www.surreycc.gov.uk/roads-and-transport/buses-and-other-transport/bus-timetables

	Characteristics

	Evidence from Cranleigh

	Housing





	

	Inhabitants





	

	Transport





	

	Services





	

	Social





	

	Environment





	





Exam Questions
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9-mark questions have three levels in their mark schemes.  These are identical for each of the exam papers.  The balance of marks is split between 4 marks for AO1 and 5 marks for AO2.  You should aim to:
· Demonstrate accurate knowledge and understanding throughout (AO1)
· Apply your knowledge and understanding (AO2)
· Produce a full interpretation that is relevant and supported by evidence (AO2)
· Make supported judgements in a balanced and coherent argument (AO2)

Assess – how big an impact does counter-urbanisation have on social and economic change?

Example: Cranleigh, Surrey

P – Point	E – Explain	 	E – Evidence			L – Link

· The concluding statement should make an overall assessment about the extent to which counter-urbanisation leads to social and economic change.
· Think of view point and give evidence to support that view – small/large?

TASK:  Plan your answer and write it on a separate piece of paper.


Pre-work/Flipped learning
· Read Hodder p388 ‘Urban change’ to identify the three main factors that caused deindustrialisation.
· Review Changing Places case study work on Detroit.  Identify causes and impacts of de-industrialisation in Detroit.
[bookmark: _GoBack]
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Characteristics Original village Suburbanised village
Housing Detached, stone-built houses with New, mainly detached or semis;
slate or thatch roofs; some farms, renovated barns or cottages;
most over 100 years old; barns. expensive planned estates, garages.
Inhabitants Farming and other primary jobs; Professional/executive commuters;
labouring or manual jobs. wealthy with young families or
retired.
Transport Bus services; some cars; narrow, Decline in bus services as most
winding roads. families have one or two cars;
better roads.
Services Village shop, small junior school, More shops, enlarged school,
public house, village hall. modern public houses and/or
restaurants.
Social Small, close-knit community. Local community swamped; village
may be deserted by day.
Environment Quiet, relatively pollution free and More noise and risk of more

open space.

pollution; loss of farmland.
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Question 5 Contemporary urban environments

0[5 1 | Counter-urbanisation is:
[1 mark]
A Caused when the poor are pushed out of an area by o
gentrification.
B Movement of people back into a regenerated urban area. o
€ Movement of people from urban areas into surrounding rural o
areas
D The flow of commuters into city in the morning then back to o
the suburbs in the evening.
0|5 ].[2]Whatis the urban heat island effect?
[1 mark]

A Higher temperatures are found on large developed islands. o
The temperatures are higher because of the geographical
location of the settlements near to the equator.

ﬂ O Type here to search
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‘Assess the extent to which counter-urbanisaltion leads to Social and economic:
change.
[9 marks]

Question 3 continues on the next page
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Contemporary urban environments

¢ Counter-urbanisation

Learning Objectives:

+ Discuss the causes and consequences of counter-
urbanisation
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The tendency for large towns and cities to grow outwards
along roads has been checked by the green belt policy.
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Designed both to accommodate the urban workforce and
to act as self-supporting alternatives.

Urban
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Dormitory or commuter villages with a residential
workforce employed in urban areas.

Extreme rural

Commutingis related to accessibility. Outlying villages with poor roads or
ata great distance from urban areas may decline or become targets for
second home owners leading to service decline.





image3.png
originalvillage core <1918
I coretions 1918-39

[ +ibbon development 1920-1960
I 2r0e modem estates >1950

[l isoited settement around village




